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1 | 9032|EH % 54739t—Y AC 1114 (-1.9) 25 | 1
2 | 2434[#EI0 =FQ) RALED 1117 (-1.9) 25 | 2
3 | 9074|FK 2 %) PN 11.20  (-1.9) 25 | 3
4 | 9075/KE M) NAK 1129 (-1.9) 25 | 4
5 | 875528 =t i) EEF 1132 (-1.5) 23 | 1
6 115|632 #(3) W EEE 11.36 (-1.9) 25 | 5
7 | 9023 %k Bk R EH 1140 (2.0) 22 | 1
8 | 17078 &=0) /J\%== 1143 (-1.1) 24 | 1
9 | 2378[FBd XBE@) N 1144 (-1.1) 24 [ 2
10 | 835| =8 SLRQ) Rils 1151 (—1.1) 24 | 3
11 | 16935k 3F BAR) BEHRa 1152 (-1.9) 25 | 6
11 | _9029|3 (L FMfE 547778=YAC 1152 (-1.9) 25 | 7
13 | 2228[% 00 A BEEEE 1153 (-1.1) 24 | 4
14 | 1846 B KAHIG) FHZEAES 1159 (-1.5) 23 | 2
14 481315 EHQ) KiEE 1159  (-1.1) 24 [ 5
16 | 422[@% HREQ) FHRtE 11.60 (-1.5) 23 | 3
17 | 1878|— 238 ShEE(3) FHTHS 11.69  (-1.1) 24 | 6
18 | 3147|A 3EEQ) 1171 (-1.5) 23 | 4
18 | 9076[#AE Fnth(4) 11.71  (-1.1) 24 | 7
20 | 2482[\JARALA FHE3) 11.72 (=2.0) 22 | 2
21 | 2606[1LO K¥E(2) 11.78  (-2.0) 22 | 3
22 | 2515|—7& ¥BK3L(3) 11.84  (-2.0) 22 | 4
23 476[;HEF RIEQ) KiEE 11.85 (-2.3) 19 | 1
23 | 25468 i&E(2) SHE 11.85  (-3.1) 21 [ 1
23 | 9084|% BAIQ2) AKX 11.85 (-1.5) 23 | 5
26 | 9109[(LA A1) EIK 1187 (-2.3) 19 | 2
27 | 131/ 2 (3) W —xm 11.91_ (-2.0) 22 | 5
27 | 9048[FLfE B— EQ5TRAC 1191 (-1.0) 24 | 8
29 | 1967|l7 KEH(3) AEFIES 11.92  (-2.0) 22 | 6
30 | 477[/ME mEQ) e 11.93 (-1.2) 20 [ 1
31 | 2548 B H B S 11.98 (3.1 21 | 2
32 2855 E B2 F&e 12.01  (-1.2) 20 | 2
32 | 18131k &k FTHES 12.01  (-2.3) 19 | 3
34| 9121|=:E 1%1_ EHFSEAC 1203 (-2.4) 18 | 1
34 | 2563|/NR S 2=(03) R 12.03 (—2.4) 18 | 2
34 | 1420[HI mE(Q) nra 1203 (—2.4) 18 | 3
37 | 67758 BAQR) il:t:T"L\JIIEF 12.06  (-1.2) 20 | 3
37| 2432|FE EE®) BEIES 1206  (-2.4) 18 | 4
39 | 839 =& FAAQ) RIS 1212 (=3.9) 17 | 1
39 | 9026|413 A FE7 A=Y 1212 (=3.1) 21 | 3
39 | 801[SH BHQ S 1212 (-2.3) 19 | 4
39 | 805|&H FKQ) RlE 1212 (=3.1) 21 | 4
39 | 2330|#.E #AABRQ) *’uk%alzfr&.—, 1212 (-2.4) 18 | 5
44 | 2046|%Z F HAQ) AETEGS 1214 (-1.2) 20 | 4
44 | 2225[3 E fiLKR@3) BEAEES 1214 (-1.2) 20 | 5
46 | 9015| E1& & w{1-17YY 1216 (-2.3) 19 | 5
17 | 3142|E & Q) BAE R 1217 (-3.1) 21 | 5
48 | 2487|A T B2 NEEJEE] 1219 (-3.9) 17 | 2
48 | 5496[/KE Kih(3) ES L 1219 (-1.2) 20 [ 6
50 | 245|/NE FBRFE(2) e 12.22  (=2.3) 19 | 6
51 | 9027|&A A P37 2-Y 1223 (-2.0) 22 | 7
52 | 2501|FH+ = B#1) NE ) 12.25 (-1.9) 16 | 1
52 | 7422| LI 5(2) EE R 12.25_ (-3.9) 17 | 3
54 | 1848[5FF BREBHR) THZEAES 12.26 (—2.4) 18 | 6
54 | 2539| KB RER) S 12.26_(-1.5) 23 | 6
56 | 2234|FH K EEN(2) WAREES 12.28  (=2.7) 14 | 1
56 | 2545|N11 %) 2Ra 12.28  (—=3.1) 21 | 6
58 132|3R%E $h2(3) WeH—ES 12.30  (-3.2) 13 | 1
59 | 1883| &R =) FTHTHS 12.31_ (=3.5) 15 | 1
60 [ 1940| KA FmA2) AEFIES 12.33  (-1.9) 16 | 2
61 | 126|8K Faa() ; 1237 (2.7) 14 | 2
62 | 2502|228 &(1) 1238 (-2.7) 14 | 3
62 | 1748|=TF BB () 12.38  (-1.2) 20 | 7
64 | s828[fiH Z—(3) 1249 (-2.7) 14 | 4
64 | 2322|& i) 1249  (-2.7) 14 |5
66 | 2049| KA HFQ 1250 (-2.4) 18 | 7
67 | 133} BfEQR) 1251 (=2.7) 14 | 6
68 | 6471|= F 812 iﬁﬁr‘Eqﬂ 1252 (-3.9) 17 | 4
69 | 9017|HR B2 IR RE 12.57  (-1.9) 16 | 3
70 | 2236[FEXR EHEQ) *’u&?ﬁ,.m 1258 (-3.2) 13 | 2
70 | 344|FB FEAQ) EFRES 1258 (-1.9) 16 | 4
72 | 829[/NE A®) A= 1259 (-2.4) 18 | 8
73 | 1567|/M 8 [EAQ) TR e 12.61_ (-3.5) 15 | 2
73 | 9000[RE 3 APK 12.61  (-2.7) 14 |7
73 | 7215|552 RIAR) EHH 12.61 (2.7) 14 | 7
76 341 ARH JXERN2) tERES 12.63  (-3.9) 17 | 5
77 | 2134] A1l FIFEQ) BEE 12.69  (-3.5) 15 | 3




R No. K & BEMRE R RO &k (JEL) [ 25T
78 | 2107[HR T @) = o 1 12.70  (-3.5) 15 | 4
79 | 7077 R H BAE® AEHT 1273 (—2.4) 18 | 9
80 | 7221|E#H HREQ) E&HH 1274 (4.1) 12 | 1
81 | 803[FEE Mm@ Rl 1276 (-3.2) 13 | 3
81 425 %R BE2) FHitE 1276 (-1.9) 16 | 5
83 | 9021[EEA = S—h VA K% 12.77  (-3.2) 13 | 4
84 | 826|7a= 1KEQR) A= 12.78 _ (-3.5) 15 | 5
84 | 6456] E1& I5=(@) FErf 12.78  (-1.5) 23 | 7
86 | 391[#EE B—ERQ) FItE 1279 (-1.9) 16 | 6
87 | 2326|% 0O IBA®) NAEBER EE 1281 (-4.6) 11| 1
87 | 7483|FLR K1) EXMEMAG 12.81  (-3.2) 13 |5
89 | 1712501 =A@ MR 12.83_ (-3.5) 15 | 6
90 | 1966 F A ik h(3) AEEES 12.84 _ (-4.1) 12 | 2
o1 [ 9112[FBR —H#(©2 EMX 1287 (-2.7) 10 | 1
91 | 2490 &Il 322 RETE= 1287 (-1.9) 16 | 7
93 | 6783[1EE & h(2) El TGS 12.89 _ (-2.7) 10 | 2
94 | 6830 K= EABRQ) HEH 12.90  (-3.6) 7 | 1
95 | 1565|/MA RIE() TR 12.91 (1.9 16 | 8
95 | 6488t 5 %R0 AN 1291 (-1.9) 16 | 9
97 | 7421|FE BH© FhEE 1292 (-2.7) 10 | 3
98 | 1616]|9:E JEAR(2) EMHE 1293 (-2.7) 10 | 4
99 [ 2323[/NE BE—(®) WAEBA RS 1295 (-46) 11| 2
99 | 7043|F#X EEQ) /A F 12.95  (4.1) 12 | 3
101 1774E AZ(Q) s 12.96  (-3.6) 7 | 2
101 | 6866[#Z A2 AETE—f 12.96  (—2.7) 10 | 5
103 | 2132[F K BA®B) (R L ET 12.99  (-4.2) T |1
104 | 7230[F0 AQ) EHH 13.02  (-3.6) 7 13
105| 806 T/= %32 = 13.03_ (4.1) 12 | 4
106 | 2492[FF FAQ) NGEJEE] 13.06 (-3.5) 15 | 7
107 | 2328[Fd 1ER () NAEBER RS 1307 (41) 12 | 5
108 4676|784 B2 FHERT 13.09  (—4.6) 11 | 3
109 | 7245[f&R WAQ) REET 1313 (-3.6) 7 | 4
109 | 838[H]I HRE(R) Rl 1313 (-3.2) 13 | 6
111 7140/ & BAR) B Rk 5 1314 (-35) 15 | 8
112 671798 BRE3) = 1316 (-5.0) 8 | 1
112 6491+ EAR) ERLET 13.16  (-4.1) 12 | 6
114 4307 |WER 5@) INERT 1317 (-5.0) 8 | 2
114 7223[/ME BE@) E%HH 1317 (-3.6) 7 |5
116 1776|FH EXBEIQ fTHs 1319  (-3.2) 5 |1
117] 2327[3R Z5%Q) WAEBRTEE 1320 (-2.7) 10 | 6
118 6772[/ M EM @) B[N 13.21  (-4.1) 12 | 7
119 6842[AJII £ @3) AL 13.22 (-3.2) 13 |7
120 | 6459 %7t E2EQ2) FErf 13.24  (-4.6) 11 | 4
121 1773|/NEH Q) fTHs 1327 (-4.6) i1 | 5
122 7416[35H TTAQ) JEEG 13.28  (-4.6) 11 | 6
123 |  802[EH (2 Rils 1330 (—2.7) 10 | 7
124 2055[/MMR FEABR(2) ATEG S 13.34  (-4.0) 9 |1
125| 7246[RE BAD) REHH 13.36  (-4.1) 6 | 1
126 | 2313|500 BEF1(2) BEE B 13.37  (-4.0) 9 | 2
127 8759| 7T im#E(2) P& 13.44  (-3.6) 7 |6
127 7286[FaR #(@3) ZEJF 1344 (—4.1) 12 | 8
129 4088 =& EA®B) 73R 1345 (-4.0) 9 | 3
130 | 2504/ 2% HE() DAE R 1346 (-4.0) 9 | 4
131 2467| B R =AIQ2) NEEJEE] 1347 (4.6 11 | 7
132 | 744652 IL18B(3) o % T 1348 (-4.0) 9 |5
133 | 7144|FE BiE(Q) (s 1351 (-4.6) 11 | 8
134 7110[E A KIE®2) B Rk 5 13.52  (-5.0) 8 |3
135| 6776|%+ =BHR) B[N 13.58  (-4.1) 6 | 2
136 | 7285|HTF 52183 ZEFF 1359 (-4.1) 6 | 3
136 | 6824[3kF Q) BE4 13.59 (-4.0) 9 | 6
138 | 6873|KHM ZHED AETE—h 13.61 (4.6 11 | 9
139 | 6463 E1% #EXR(Q2) Ff 13.62  (-2.7) 10 | 8
140 7111[&L BQ) B F 13.64(-4.0) 9 | 7
141 7289|HZH EEQ) ZEJF 1369 (-3.6) 7 |7
141 65098 Z&®) ERGET 13.69  (—4.1) 12 | 9
143 | 6788[#RIL =53 ElEINIES 1373 (-3.2) 13 | 8
144| 6489|=H £EAQR) ERGET 13.74  (-2.7) 10 | 9
145 | 8238[8RE WF(2) Fia P 13.78_ (-3.2) 5 | 2
146 | 7961 H EEQ2) REF 1379 (-3.2) 5 | 3
147 7425[0A 38(2) FhEE 1382 (-3.2) 5 | 4
148 4652|ha0 &= (2) THENH 13.83  (=4.1) 3 [ 1
148 7423[ILH BEAQ) FhEE 1383 (-3.2) 5 | 5
150 | 8753[JEH BRI A EZth 13.86_ (-3.6) 7 | 8
151] 67671k B2 = 13.91  (-3.2) 5 | 6
152 | 4645|FH EAQ) FEE@mS 13.92  (4.1) 3 | 2
152 6894[#: 3 F1E®) —#& 13.92  (-4.1) 6 | 4
154| 7963|= = BAh(2) REH 13.95 (-3.2) 5 |7
154 2051[4# & Q@) KEEEE 13.95 (-3.6) 7 19
156 | 4646|FER B—(2) FHENF 13.98_ (-5.0) 8 | 4
156 | 7401[1lLuO 332 JEHEG 13.98 (-5.0) 8 | 4
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158 | 46751k BE(3) EEERT 1404 (4.1) 6 | 5
159 7041|KH &£@Q) /AT 1406 (—4.1) 6 | 6
159 | 9025|%=5mk Bk FEA7R)-Y 1406 (-5.0) 8 | 6
161| 6898 FH Eh(2) —®&g 14.09  (-2.3) 2 [ 1
161 | 7284[#EA 52@3) ZEPF 1409 (-4.1) 6 | 7
163 | 7288|Z R mZE(2) ZEFF 1414 (-4.4) 4 |1
164 | 6457 |ER BEQG) FErf 1416 (-4.1) 6 | 8
165 | 7424 E1& BA(2) FhEE 14.22 (-4.4) 4 | 2
166 | 4086|7a0 TAAR) griR 1423 (-4.1) 3 |3
167 7964|A~ RAEEH 7T IIND) REF 1424 (—4.1) 3 | 4
168 | 7400|FHA HR(2) REHB 1426 (-4.4) R
169 | 7226 & Bk (2) EHH 1431 (-4.4) 47 | 4
170 9019[/V#a EH - VA EF 1433 (-3.2) 5 [ 8
171 6723|RE/R iEHR3) = 1435 (-4.4) 4 |5
172 | 6636[#2E K= (2) ERHEF 1437 (=3.2) 5 | 9
173 | 6786|FH:2 &2 ez 14.39  (-2.3) 2 | 2
174 741353 B JEHEG 1441 (-5.0) 8 |7
175| 6633|T= &£() EFIEh 1448 (—4.1) 3 |5
176 | 6466|78:2 @2 FEo 1450 (-4.4) 4 16
177] 6465[FK =ZA2) B 1453 (—-4.4) 4 |7
178 7381 |5 7% $1(2) HER 1462 (-4.1) 3 | 6
178 | 4391 & H (2 EXE G 14.62  (—4.4) 4 | 8
180 | 72121k fGER(3) =% 14.63  (-2.3) 2 | 3
180 7959|F2H &1+ (2) REF 1463 (—4.1) 3 | 7
182 6472[kI BEQ) ERILET 1472 (-2.3) 2 | 4
183| 6458] E1& MI(2) Ff 1474 (-4.4) 4 19
184 9003[ LA #H5R(1) TRFEAE 14.91  (-2.3) 2 |5
185 | 7418|235 SE(2) ,&EEEJ 15.08  (-4.1) 3 |8
186 7231 FF ZAQ) E&HH 1513 (-2.3) 2 | 6
187 | 7498[FE=E BRI(3) BEARBBAT [ 1522 (23 2 | 7
188 | 6648 & AT B4r(1) Z5dth 1532 (-2.3) 2 | 8
189 6791[iF@A BEXR®@) Bl NI 1540 (-2.3) 2 |9
190 6770/ B =R(2) B NIIES 1557 (-4.2) 1 |2
191 6704| R 42 =5 15.62  (-4.2) 1 | 3
192 79655 EAQ) R&F 15.65  (-4.2) 1T | 4
193] 7962|F A K72 RE&H 1593 (-4.2) 1[5
194 | 6646 K% (1) ERIEH 16.16 (—4.2) 1 |6
195 4679| L4 (2 EBERT 16.18 (-4.2) T |7
196 | 6630[ILH 5H.(2) ERHEF 17.02_(-4.2) 1 |8
197 6476[#E 2(2) ERILGET 1785 (-4.2) [
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1 6 6772 /hY =N Q) Pl NIES 25.69 1 1) 7423 1LuA BEKX(2) $hEE 26.94
vy F4ir 8 144
2 2 6593 #HE Eth(2) BaAET 27.39 2 T) 7427 K1l {&kuE (2) A% h 27.73
78y T (9%
3 1) 9014 7r3E £ t(1-17"YY 27.60 3 8 7428 =B HE(2) A%t 27.92
7ht 4hy Y HhE
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ng M3y H 47 19%
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1 1) 6458 Ef& R (2) Ef 28.77 7 4 6824 3k% 12 (3) BE4 26.75
VEAEVIVEY 1/ k3w
8 9 6457 R BEE (3) Ef 28.717 8 8 4675/ #k EE(3) LTHERS 27.51
w07 nF an vy by
3 7483 TR Rt (3) |IEXMEBH A 9 7] 9130/hL FT (2  ZAAC 27.87
7713 %% DNS R EAVELLY
[ 5481 ®E&E -0.6 [ 648] REE +2.0
JE[ b-v] No. K £ RA &k {#%E |IE L-» | No. K & RA ek EE
1 6 4141 IR BEE Q) AL 24. 717 1 5 7422 Lk 5 (2) $hEE 24. 46
VIVILES vk}
2 20 1215 FE EREQ) B4 24.94 2 1 4296 B2 }|AK () INFEER T 24.76
EVAAV IR\ 3TN Y94
3 5 6509 hiR & () ERLES 25.56 3 20 M4 8FE KFE®Q) B Ak 25.06
Tht kvt AN 44}
41 1) 1421 g £%F(2) #HED 25.63 4] 7 6721 BEK BH Q) =t 25.24
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5/ 7| 7043 4k & (3)  |[R/ATP 25.95 5 4 6488 £A5 RFEQ) EREESD 25.41
L33y )39xh EY h5 29%
6 8 1939 R #RiE (2 AEFES 25.97 6 3 7448 HkH BEI () $REE h 25. 46
IWRLH T tf
7 9 7446 FEE I () SRR h 26.27 1 6/ 9011 {RE% #hth UPRE 25.54
347 t0/7° 109 49%
8 4] 7414|Zz@E 1% Q) JEH 27.67 8 8 16128 K& (2) ANEAS 26. 20
Y] b 4 4Rr
3 T2 N £3 Q) BEmS 9 9 6463 Lig A2 E& 27.23
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II[E -Y | No. K 4 iE& o I ] II[E -Y | No. K 4 iE& "Eﬁ/ﬁ*%
T\ 4299 {REEE H—BR(2) /NEEESF 23.89 6| 2329 Ay KK Q2  WAEXBELATEE 23.9
19 y94F09 WY & L
2 8 2056/ lLAE finth (2) | KETEES 24. 34 2 4 133" HH#E@Q) W—ES 24.03
94 A Ny bt
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